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1. ForrpR oo faeee Ses figr : 1x8=8

Answer the following as directed :

(a) PI8 91 Cvae wgE @3

]|
The Engel curve for an inferior good
(i) s
slopes downward
(i) S

slopes upward
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(iii) SRS

is a horizontal line

(iv) S 018 T

None of the above
(o Teah! IR ferean)

(Choose the correct answer)

(b) a5 THLSISR TPl S T TI©
ELR

A consumer js in equilibrium when
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(iv) SR AXC
All of the above

(% Tachr AR Bforean)

(Choose the correct answer)
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The marginal cost curve intersects the
average cost curve, when AC 18

(i) FE®
maximum
(i) w
minimum
(i) S
rising -
(iv) ﬂﬂs@
falling
(% T ZfR )
'(Choose the correct answer)
(d) ‘Rw W’ W ﬁ {ﬁ‘? . ,?
What do you mean by cidge line
QAMA
() o o o Rew T s o8 T
A (4R IR =)
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If two factors are perfect substitutes
i line will be .
o (Fill in the plank)
(Tum over)
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(4)
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Market price is a
(i) R
long-run

(i) TIFAA

short-run

(i) oS TR
very short-run
(0% St a1 SRed)
(Choose the correct answer)
9 AR 2P Aere @@ TeRT
S oA T | (o= 7 oo, ford)

In the .lc.mg-run, a firm under perfect
competition can earn only normal profit.

price.

(Write True or False)

" R TowTT T3, R
AR (9T Teoplfire w’i%‘?;q;mm
Rien e Rdw it s 4w

(0% 1 e, o)

z;:lcewcl:}:::!ﬁt:ﬁnaﬁon will be profitable
y € monopolist finds that the

‘price elasticity of demand for his

product is different in different market
arkets.

(Write True or False)

( Continued )

(5)

2. s FPE R GG BRPR wwS 7Y G B
(2fes1 s¢o R ) : 4x4-10

Write short notes on any four of the following
(within 150 words each) :

Cross elasticity of demand

(b) T AMEe I

Social cost of production

¢ i feae

Economies of scale

(d) TooR uifo
Deadweight loss

(e) FMI R

Prisoner’s dilemma
3. (a) o @ iRl T T2 IR

| TRE P O -y
(PCC) 4Gt 3 F01 -
What do you mean by price elasticity of
demand? Explain the factors that
determine the price elasticity of dema.nd-
Describe the concept ° prie
consumption  curve (pcC with
appropriate diagram. ;
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5. (a)

()

6. (@

n
average cog (SAC) ¢y an
Irve,
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(7)

ojfefecafAerTTe T&H et £ T ? I
offefcam T AE afdprrR R
ool W ¥, e e RS I
1 2+12=14
What do you mean by perfectly
competitive market? Explain, with the
help of suitable diagram, how firms and
industry under perfect competition

attain equilibrium during short-run.
531/ Or

74 RSAFRR TFOR AT AT TETR 15

7 ™ Reeietd AT TS & GRTHIAT
SRR RIE T W wE T
A FefiRg I, a0 T 4+10=14
What are the necessary conditions for
price discrimination to be successful?
Explain how a monopolist determines
equilibrium price and output under the
policy of price discrimination.

e TERES WA

i afdprcd T 390
What are the characteristics of oligopoly?
Explain the equilibrium price-output
determination process in oligopoly with
the help of Cournot’s model.

(Tum over)
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What is oligopoly market? Critically
discuss the Baumol’s ‘model of sales
maximization.
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